Outline

1. Charge normalized ° yield results
2. Charge normalized DVCS yield results

3. A summary about the previous barriers
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Fit result: y =-0.0004x + 1{.0062
x2/ NDf = 343.907 / 53
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Fit result: y = -0.0020x + 1.0574
2/ NDf = 177.557 / 41
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Fit result: y =-0.0030x + 1.0413
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2. DVCS charge normalized yield

» Only ps6 production good runs (KinC x50 4)
» Cluster time window: 145 < clusT < 155
» DVCS event selection: Good timing & Emax>1.2/1.5/2.0
» Using the correct clusters:
* First “nclust” values 1n the array

* Ignore nclust=0 events (The main barrier in previous analysis)
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Fit result: y = -0.0003x + 1.0080
%2/ NDf = 504.903 / 41
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Fit result: y = 0.0002x + 0.996
%2/ NDf = 828.254 / 51
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